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  MODEL  EVALUA TION TEST 2021
PHYSICS

Standard X

Time: 1 ½ hrs Maximum Score: 40

General Instructions:
• The first 20 minutes is the cool-off time. You may use this time to read and  plan your answers.
• There are a total of 80 score questions. Out of these,  the best written questions / sub-questions

of 40 score will be considered for your score.
• It is not compulsory to answer all questions. But the maximum number of known answers

can be written within the time allowed.
• Write the answers that you can write with confidence first.
• Write the question number/sub-question number clearly.

SECION A
 Questions  1-8 carries 1 score each.

1. Find the relation in first pair and compare the second pair.

Filament Lamp : Tungsten

Fuse wire : ......................., ...................... Alloy

2. Select the correct statement related to Fleming’s Left Hand Rule.

a) Thumb indicates the direction of motion of the conductor.

b) Forefinger indicates the  direction of current.

c) Middle finger indicates the direction of magnetic field.

3. What is the frequency of AC generated for distribution in our country ?

4. Which type of mirror is used as rear  view mirror ?

5. When the magnifcation is more than 1, the size of the image is ..............the size of the object.

6. Which process is responsible for the production of energy in the stars ?

7. Find the odd one.

Coke, Ammonia, Naphtha, Coal tar

8. Identify the source of Green energy from the following.

a) Coal b) Naphtha c) Biogas d) Petroleum

Section B
 Questions  9-20 carries 2 score each.

9. Three resistors of  2 ohm are given. By using this resistors

a) What is the highest resistance that you can get ?

b) What is the lowest resistance that you can get ?

10. Write any two disadvantages of incandescent lamps.

11) a) Which are the main parts of a moving coil loud speaker ?

b) Mention the working principle of moving coil loud speaker.

12. Write any two factors which affecting the strength of the magnetics field of a solenoid carrying

current.
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13. When the armature of an AC generator rotates in the magnetic field, current induced in it.

a) Which rule is used to find the direction of  induced current ?

b) According to this rule the forefinger  indicates ..............

14. Write the similarities and difference in the structure of AC generator and DC generator .

15. When Anitha observed her face through two different  mirrors, the size of the image of the face

different in both mirrors.  Based on this  change identify the mirrors.

a) Same size as that of the face.

b) Size of the image of face  is large. (Magnified)

16. Observe the figure and answer the question below.

a) Height of the image ..........................

b) Height of the object ..............................

17. Observe the following figures related to refraction of light.

a) Find out the incident angle and the refracted angle from the figure ?

b) What happnes to the path  of the light, when light ray passes obliquely from the air to glass ?

18. Why sun appear red in sunrise and sunset ?

19. LPG is used as cooking gas for domestic purpose ?

a) What is the full form of LPG ?

b) Which is the main component of LPG ?

20. Write any two method for reducing energy crisis ?

Media  1

Media  2

4 c.m

2c.m
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Section C
 Questions  21-28 carries 3 score each.

21. Which are the peculiarities of  Nichrom that make it suitable for using in heating appliances ?

22. Match the following.

23. Free Moving Conductor AB in  a magnetic

a) What happens when electriciy pass through  the conductor

b) What is the reason for it ?

c) What happens when the direction of electric current reverse. Why ?

24. When an object is placed 30 cm away from a sperical mirror the magnification is  -1.

a) What are the feature of the image ?

b) Which type of mirror is this ?

c) When an object is placed 10 cm away from the mirror what changes will occur  to the nature of

 the image.

switch

B

A

A B C

Battery emf  increases and decreases

without change in direction

DC GeneratorDirection of emf changes

continuosly

AC Generator  emf is steady
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25. When a person consulted an opthalmologist, he wrote in his prescription  as +2D.

a) What does +2D indicates ?

b) Which type of lens is this

c) What is the focal length of this lens ?

26. The nature of the images formed by the two lenses aregiven below.

1) Erect and magnified virtual image.

2) Erect and diminished virtual image.

a) Which type of lens is used  in each case ?

b) By using which type of lense an image of the size as that of the object can be created.  In this

case where is the  position of the object ?

27) Red light uses in signal lamps and tail lamps of vehicles.

a) Which has highest wave length in the visible spectrum ?

b) What is the relation between wave length and scattering  of light ?

c) Why red light use in signal or tail lamps ?

28) a) Which colour is seen when a Newtons colour disc rotates fast ?

b) What is the phenomenon behind this ?

c) Write another situation in which this phenomenon is applied.

Section D

 Questions  29-34 carries 4 score each.

29. An object is placed in front of a  lens.

a) Identify the lens

b) Complete the diagram and find out the position of image.

c) Write two features of the image.

A

B

C F
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30. The diagram indicates the image formation in the eye of a distant object.

a) Identify the defect of the eye.

b) Write two reason for this defect.

c) Which type of lens is used to rectify this defect.

d) Draw the figure of the correction of this defect.

31.

Identify this device.

a) What is the working principle of this device ?

b) The input voltage is 240V. The number of turns in primary is 800 and that of secondary  is 80.

What will be output voltage.

32. Observe the figure and answer the questions.

Primary Coil Secondary Coil

Input

O
utput
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a) What happens when the coil vibrates ?

b) What will happen when steady current reaches the voice coil ? Give reason ?

c) What is the working principle of this device ?

d) What is the energy change  in this device ?

33. When an object is placed 30 cm away from a concave mirror, an image is formed  in a screen at

a  distance of 20 cm in  front of  the mirror.

a) Find out the focal length of the mirror.

b) Write any one situation in which convex and concave mirrors are used.

34. Match the following

A B

a) Electric Heater Light effect

b) Microphone Heat effect

c) Bulb Not harmful to environment

d) LED Electro magnetic induction


